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Master of Arts (Economics) 2™ Semester
1059
MICRO ECONOMICS—II
Paper—MAECO-201 (In all Mediums)
Time Allowed : Three Hours] [Maximum Marks : 80

Note :(— Attempt five questions in all, including question.number
1 which is compulsory. Choose one question each from
other four Units respectively. Each short answer type
question carries 2 marks and long answer type question
carries 15 marks each.

1. Attempt any fem short answer type questions in
25-30 words each :

(i) Production maximization rule.

(ii)) Why does government control prices ?
(ii1)) What influences monopoly power ?
(iv) Negative effects of import tariff.

(v) Heroic assumptions.

(vi) The shapes of average selling cost curves under fixed
cost and variable cost.

(vii) Differentiated products.
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(viii) Contestable markets._

(ix) What is substitution effect in labor market ? i
(x) Is Leisure a normal good ?

(xi) Difference between Duopoly and Bilateral Monopoly.
(xii) Basic assumptions of Arrow’s Impossibility Theorem.
(xiii) Externalities in production

(xiv) Utilitarianism

(xv) Rawlsian Social Welfare Function. 2x10=20

UNIT—I

How does perfect competition lead to allocative and productive
efficiency ? Why does efficiency drive the price down in a
purely competitive market ?

How peak load pricing is different from third degree price
discrimination ? Discuss inter-temporal price discrimination
and peak load pricing. 15 Each

UNIT—II

How can monopolistic competition lead to inefficiency and
excess capacity ? How do you calculate excess capacity ?

What is the difference between cartel and collusion ? Why
firms compete or collude in oligopolistic markets ? Why is
collusion bad for consumers ? 15 Each
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UNIT—III
Discuss wage determination :

(a) When there is imperfect competition in both the product
and factor markets;

(b) When there is a perfect competition in product market
and an imperfect competition in the factor market.

Write an essay on labor supply trade-off between work and
leisure. 15 Each

UNIT—IV

What is Pareto Optimality ? Is Pareto efficiency the same
thing as perfect competition ?

Examine the Bergson-Samuelson Social Welfare Function.
How it is different from Pareto Social Welfare Function ?
15 Each

(= wremw)

- e Ham 19 & afed 8, 3 o gw wiw ge A
FHI: 377 =T IS H ¥ gAF A § Ty A ) gow
Y I YA H 2 3F § T TS 4" IR G @
15 3w €1

PR T@ ag-ITAT gIA B 25-30 T H HY -

(i) JcueT AftraEEs Fge |

(i) R FHd ) FEFr w9 s g7

(iii) TR ol ®1 F1 g9Ifad e & ¢

2662/FQZ-18182(T) 3 [Turn over




(iv) 3O Yoo & THRCHS I |

(v) woEg AR /
(v1)ﬁﬁaamsﬁrqﬁaﬁum%maﬂwﬁaﬁm
T |

(vii) foifed Ieurg |

(viii) gfereast s |

(ix) %™ =) § e y9E 91 & 7

(x) ¥ @l g9Y GEFUG: 30T & !

(xi) gRFR IR fuely e & fiF idX e ¢ |

(xii) QU # IEHIAT FHY A JT GRO |

(xiii)3cTET H S

(xiv) STTETR

(xv) UCTTT WU JABIL BT | 2x10=20
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gfe-11
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Fec (Cartel) IR FIe-d® (Collusion) ¥ 1 3R & 7 HH
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& fou wuyc-dftnea 91 & 7 15 Each

2662/FQZ-18182(T) 4



6.

—

eI
a7 frafor w g=f X
($)Wmmwwﬁﬁaﬁqﬁmaf@?ﬁ%
(@) v Icae g # gl et SR FRE SR H sl
yfoeget 2 2 |
FH IR FRW F o9 7 A AUR-§8 W T e g |
15 Each
-1V
e SffteAferd) Far 8 P F W) A cEar gl gladifer &
e
SiET A AU JAHRIL FHRIT FH GG FL | TS R
Qo IARIX BRI F AT DY & ! 15 Each

(JaAmet nigeTe)

3¢ :— Yrs 399 17 fa st 3, © 5% a% UA Yrs a9 | gHe'd

Tt g9 gleet R o9 &8 f&a yms ad| a9 sw
839 yms € 2 »ix I5 w3 T9x dow €3 yms ©
15 »ig T&|
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(ii) A9 dH3T § deds faf a9t I ?
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(iv) »a3 2fae ¢ sI9SHA Yge
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(V) YBRYSE HaSTE|
(vi)na@rmm%éaﬁmm@mu%ﬁﬂzféaﬁm:
9 | '
(vii) fe3fes B3ue|
(viii) Yf3warsT s77a |
(ix) 399 Wgelle 9 YSHaus yse of I 7
(x) o udt AHT »wH39 3 Jar I ?
(xi) SFUS »3 St Bafuars fegas iz AuRe &3 |
(xii) 83 & wiHg=zT faon et ye TeEe|
(xiii) B3ues &g godhus|
(xiv) Butias=E |
(xv) TEEME ARG 2w SIHS | 2x10=20
gfee-1

2. FYIs HIES faH 3gF niees w3 G3uex RS 3% & A
3 7 fex foca® yStAmusdt Hadle 8 IE®3T M3t § ue
fag et I ?

3. g 335 yEifHA 593 fsadt Yt 3sg= 3 @ fae I ?

PiZI-AHIER U 3T3e »i3 Uix 83 H& fsduas 3 9997 &4 |
15 Each
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5. 9% (Cartel) 3 que-Fdt (Collusion) fegarg ot »izg T ?
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3 7 yu3argt BEr JUe-AUT a3 faf T 2 15 Each
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7. @ vi3 »eH TIhmis faes yaIst sue g €3 fa 3y fad
15 Each
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8. ude BuARfES ot I ? &t ude & AHIE yIs yStuarsT fadt
T ?
9. UJIHG-HHEHBAG ARG BeNd oHs © udbe ad| feg
Ude ARS I®end Sars I fae duar I 7 15 Each
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